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RREPE)=AR (G | ERCHE) % L 700 | 13.200 | 13.100 700 | 13.200 | 12.700 700 | 13.200 | 12.700 700 | 13.200 | 12.700
L .700 | 15.200 | 15.100 .200 | 15.700 | 15.200 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700
L .700 | 15.200 | 15.100 .200 | 15.700 | 15.200 | —— .700 | 15.200 | 14.700 .700 | 15.200 | 14.700 | ——
L .700 | 15.200 | 15.100 .200 | 15.700 | 15.200 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700
L .700 | 15.200 | 15.100 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700
L .700 | 15.200 | 15.100 700 | 14.200 | 13.700 700 | 14.200 | 13.700 700 | 14.200 | 13.700
L .200 | 14.700 | 14.600 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200
L .200 | 14.700 | 14.600 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200
.200 | 14.700 | 14.600 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200
.200 | 14.700 | 14.600 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200 .200 | 14.700 | 14.200
.200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600
L — .700 | 15.200 | 15.100 700 | 15.200 | 14.700 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700
L .700 | 15.200 | 15.100 700 | 15.200 | 14.700 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700
L 700 | 15.200 | 15.100 700 | 15.200 | 14.700 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700
.700 | 15.200 | 15.100 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700 .700 | 15.200 | 14.700
KR (R 5 .700 | 15.200 | 15.100 700 | 13.200 | 13.100 700 | 13.200 | 13.100 700 | 13.200 | 13.100
.700 | 15.200 | 15.100 700 | 13.200 | 13.100 700 | 13.200 | 13.100 700 | 13.200 | 13.100
.700 | 15.200 | 15.100 700 | 14.200 | 14.100 700 | 14.200 | 14.100 700 | 14.200 | 14.100
700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100
.200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600
.200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600
700 | 14.200 | 14.100 700 | 14.200 | 14.100 700 | 14.200 | 14.100 700 | 14.200 | 14.100
700 | 14.200 | 14.100 700 | 14.200 | 14.100 700 | 14.200 | 14.100 700 | 14.200 | 14.100
.200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600
.200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600
.200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600 .200 | 14.700 | 14.600
.700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100
.700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100
.700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100
.700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100 .700 | 15.200 | 15.100
RE(PE)=AMR(B#E) | RRCHE) % 700 | 13.800 | 13.300 .800 | 16.300 | 15.300 .800 | 14.300 | 13.300 .600 | 14.100 | 13.100
700 | 14.300 | 13.600 .800 | 16.300 | 15.300 .300 | 13.800 | 12.800 .300 | 13.800 | 12.800
.200 | 16.000 | 15.700 .600 | 15.100 | 14.700 700 | 13.300 | 12.300 .200 | 14.700 | 14.300
KR (@) 5 800 | 12.300 | 11.300 .200 | 14.700 | 14.200 1.800 | 11.300 | 10.900 700 | 14.200 | 13.700
800 | 13.300 | 12.300 .200 | 15.900 | 15.600 500 | 14.000 | 13.000 .300 | 13.800 | 12.800
800 | 14.300 | 13.300 .600 | 13.100 | 12.700 .800 | 13.300 | 13.000 .200 | 14.700 | 14.200
R (PE) =R (BH) | mRCHE) % .800 | 39.100 | 35.600 .900 | 38.600 | 37.800 .900 | 38.600 | 35.600 .900 | 38.600 | 35.600
.000 | 39.100 |_37.800 .000 | 39.100 |_38.700 .000 | 39.100 | 37.000 .000 | 39.100 | 37.000
.000 | 39.100 |_37.800 .000 | 39.100 |_38.700 .000 | 39.100 | 37.000 .000 | 39.100 | 37.000
.000 | 39.100 |_37.800 .000 | 39.100 |_38.700 .000 | 39.100 | 37.000 .000 | 39.100 | 37.000
.000 | 39.100 |_37.800 .000 | 39.100 |_38.700 .000 | 39.100 | 37.000 .000 | 39.100 | 37.000
.000 | 39.100 |_37.800 .000 | 39.100 | 37.700 .000 | 39.100 | 37.000 .000 | 39.100 | 37.000
.800 | 39.100 | 34.800 38.900 | 36.700 | 35.200 38,900 | 30.900 | 27.900 38,900 | 30.900 | 27.900
.800 | 39.100 | 34.800 38.900 | 35.700 | 33.200 38,900 | 30.900 | 27.900 38,900 | 30.900 | 27.900
.800 | 39.100 | 32.800 38.900 | 30.900 | 29.700 38.900 | 28.900 | 25.900 38.900 | 28.900 | 25.900
.800 | 39.100 | 29.700 38.900 | 30.900 | 28.700 38.900 | 29.000 | 24.900 38.900 | 29.000 | 24.900
.800 | 39.100 | 37.800 38.900 | 30.900 | 28.700 38.900 | 30.900 | 27.900 38.900 | 30.900 | 27.900
.800 | 39.100 | 37.800 38.900 | 30.900 | 27.900 38.900 | 30.900 | 27.900 8.900 | 30.900 | 27.900
LIRS 38.900 | 37.300 | 22.700 38.900 | 37.300 | 27.900 38.900 | 37.300 | 24.700 700 | 30.700 | 27.900
38.900 | 37.300 | 23.700 38.900 | 37.300 | 25.900 38.900 | 37.300 | 25.900 .700 | 30.700 | 28.700
38.900 | 30.900 | 24.900 38.900 | 27.900 | 24.900 38.900 | 27.900 | 25.700 .700 | 31.700 | 29.700
38.900 | 30.900 | 24.900 38.900 | 27.900 | 24.900 38.900 | 27.900 | 26.700 1700 | 34.700 | 31.700
38.900 | 30.900 | 24.900 38.900 | 27.900 | 24.900 38.900 | 27.900 | 26.700 .700 | 35.700 | 32.700
38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 .400 | 37.900 | 34.900
38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 .400 | 37.900 | 34.900
38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 .400 | 37.900 | 34.900
38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 .400 | 37.900 | 34.900
38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 38.900 | 37.900 | 34.900 .400 | 37.900 | 34.900
38.900 | 37.900 | 27.900 38.900 | 37.900 | 27.900 38.900 | 37.900 | 27.900 .400 | 33.700 | 31.700
8.900 | 30.900 | 25.100 8.900 | 27.900 | 24.900 8.900 | 27.900 | 26.700 .700 | 30.700 | 29.700
RIR (GFD =R (5T F k)| KR (BFD % .400 | 38.200 | 37.900 .400 | 37.000 |_36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
.400 | 38.200 | 37.900 400 | 37.000 | 36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
— .400 | 38.200 | 37.900 .400 | 37.000 | 36.700 | —— .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
.400 | 38.200 | 37.900 .400 | 37.000 |_36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
FLIE (F TR 5 | .400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.100
.400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.700
.400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.700
.400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.100 .400 | 37.000 | 36.700
RBR (B =FLIR (3 Fak)| ABR (BE) % 400 |37.000 | 24.600 .400 | 37.000 |_36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
.400 | 37.000 | 26.700 .400 | 37.000 |_36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
400 | 37.000 | 27.700 .400 | 37.000 |_36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700 | —
FLIE (F TR 5 | 400 | 37.000 | 21500 400 | 37.000 |_36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
400 |37.000 | 22.900 400 | 37.000 | 36.700 .400 | 37.000 | 36.700 .400 | 37.000 | 36.700
,400 | 37,000 | 22,900 ,400 | 37,000 36,700 ,400 | 37,000 | 36.700 ,400 | 37,000 | 36.700
KR () =048 (%) | KBk (FFD 5% ,800 | 33,700 | 29,000 ,800 | 33,700 | 31,100 33,800 | 33,700 | 31,100 33,800 | 33,700 | 31,100
,800 | 33,700 | 26,200 ,800 | 33,700 | 28,700 33,800 | 33,700 | 25,700 33,800 | 24,900 | 21,700
EEIE RS ,800 | 33,700 | 26,400 ,800 | 33,700 | 28,700 33,800 | 33,700 | 28,700 33,800 | 33,700 | 28,700
,800 | 33,700 | 31,200 ,800 | 33,700 | 30,200 3,800 | 33,700 | 28,700 3,800 | 33,700 | 31,100
RE=FLIR (3T Fi) FERES 700 | 43,200 | 42,700 700 | 43,200 | 42,700 ,700 | 43,200 | 42,700 ,700 | 43,200 | 42,700
,200 | 40,700 | 40,200 ,200 | 40,700 | 40,200 [ —— ,200 | 40,700 | 40,200 ,200 | 40,700 | 40,200
ALIE (F TR % ,200 | 40,700 | 39,100 ,200 | 40,700 | 39,100 ,200 | 40,700 | 39,100 ,200 | 40,700 | 39,100
700 | 43,200 | 41,600 700 | 43,200 | 41,600 700 | 43,200 | 41,600 700 | 43,200 | 41,600
R (FE)=ME R CHE) % 100 [ 17,800 | 17,700 100 | 17,800 | 17,600 100 | 17.800 | 17,600 100 | 17.800 | 17,600
700 | 19,100 | 17,700 700 | 19,100 | 18,200 700 | 19,100 | 18,200 20,200 | 19,700 | 19,200
,200 | 18,700 | 18,600 ,200 | 18,700 | 17,200 ,200 | 18,700 | 17.200 19,200 | 18,700 | 18,200
,200 | 18,700 | 18,600 ,200 | 18,700 | 17,200 ,200 | 18,700 | 17.200 19,200 | 18,700 | 17,700
@R 20,600 | 20,500 | 20,400 20,200 | 19.700 | 19,200 ,200 | 18,900 | 18,800 19,200 | 18,900 | 18,800
700 | 19,300 | 19,200 19,700 | 19,200 | 18,900 ,200 | 18,700 | 18,600 20,200 | 19,700 | 19,200
700 | 19,300 | 19,200 19,700 | 19,200 | 18,900 ,200 | 18,700 | 18,600 20,300 | 20.200 | 19,700
,200 | 18,900 | 18,800 20,200 | 19,700 | 19,200 ,200 | 18,900 | 18,800 20,200 | 19,700 | 19,200
AR CRIE) =/ RRECRE)# ,900 [ 15,800 [ 12,400 ,900 [ 15,800 [ 15,700 ,900 | 15,800 | 12,900 ,900 | 15,800 | 12,800
,900 | 15,800 | 13,400 ,300 | 16,200 | 15,900 ,900 | 15,800 | 13,400 ,900 | 15,800 | 12,800
,900 | 15,800 | 12,900 ,900 | 15,800 | 14,700 ,900 | 15,800 | 12,900 ,900 | 15,800 | 13,900
,900 | 15,800 | 12,400 ,900 | 15,800 | 12,700 ,900 | 15,800 | 12,400 ,900 | 15,800 | 13,400
,900 | 15,800 | 12,900 ,900 | 15,800 | 12,400 ,900 | 15,800 | 12,400 ,900 | 15,800 | 13,400
,900 | 15,800 | 13,700 ,900 | 15,800 | 12,400 ,900 | 15,800 | 12,400 ,900 | 15,800 | 13,400
IVEASE ,900 | 15,800 | 12,400 ,900 | 15,800 | 12,400 ,900 | 15,800 | 12,400 ,900 | 15,800 | 12,900
,900 | 15,800 | 12,700 ,900 | 15,800 | 12,700 ,900 | 15,800 | 12,700 ,900 | 15,800 | 13,400
,900 | 15,800 | 12,700 ,900 | 15,800 | 13,200 ,900 | 15,800 | 12,700 ,900 | 15,800 | 13,700
,900 | 15,800 | 12,900 ,900 | 15,800 | 13,700 ,900 | 15,800 | 13,200 ,900 | 15,800 | 15,200
,900 | 15,800 | 13,400 ,900 | 15,800 | 14,200 ,900 | 15,800 | 13,800 700 | 16.200 | 15,700
,900 | 15,800 | 14,000 ,900 | 15,800 | 14,200 ,900 | 15,800 | 13,800 ,900 | 15,800 | 15,000
KR (7 79) =B ABR (R ) % ,500 | 38,000 | 37,500 1300 | 36,500 | 36,300 ,300 | 36,500 | 36.300 1300 | 36,500 | 36.300
BT 300 | 36,500 ,300 | 36,500 | 32,900 ,300 | 36.500 | 32,900 1300 | 36.500 | 32,900
BEE (PR =ALIR G T R E (P 5| — ,800 | 32,900 ,700 | 37.600 | 37,400 ,800 | 32,900 | 32,600 ,800 | 32,900 ,600
800 | 32.900 700 | 37,600 | 37.400 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600
800 | 32.900 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600
800 | 32.900 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600
800 | 32.900 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600
FLIR BT FiR) % .800 | 32,900 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600 ,800 | 32,900 ,600
800 | 32.900 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600
800 | 32.900 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600 ,800 | 33,200 | 32,900
800 | 32.900 ,800 | 32,900 | 32,600 ,800 | 32,900 | 32,600 ,800 | 33.200 | 32,900
— ,800 | 32,900 ,800 | 32,900 | 32,600 | — ,800 | 32,900 | 32,600 ,800 | 33,200 | 32,900 | —
IR FTFR) =S LB — ,500 | 39.700 ,500 | 39.700 | 39,100 | ——— ,500 [ 39,700 | 39,100 ,500 [ 39.700 100 [ —
ALOF (i F5%) 5 — ,500 | 39,700 ,500 | 39,700 | 39,100 | — ,500 | 39,700 | 39,100 ,500 | 39,700 | 39,100 [ —
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RREPE)=AR (G | ERCHE) % L 700 700 | 13.200 | 12.700 700 [ 13
L 700 .700 | 15.200 | 14.700 700 | 15.
L 700 700 | 15.200 | 14700 | — 700 | 15.
L 700 | 1 .700 | 15.200 | 14.700 700 | 15.
L 700 .700 | 15.200 | 14.700 700 | 15.
L 700 | 1 [1 .700 | 14.200 | 13.700 200 [ 14,
L .200 .200 | 14.700 | 14.200 700 | 15.
L 200 .200 | 14.700 | 14.200 700 | 15.
.200 .200 | 14.700 | 14.200 200 [ 14,
.200 .200 | 14.700 | 14.200 200 [ 14,
.200 .200 | 14.700 | 14.600 200 [ 14,
L — 700 700 | 15.200 | 14.700 700 [ 14,
L 700 .700 | 15.200 | 14.700 700 [ 14,
L 700 700 | 15.200 | 14.700 700 [ 14,
.700 .700 | 15.200 | 14.700 700 [ 14,
KR (R 5 700 .700 | 13.200 | 13.100 .200 | 13.
700 .700 | 13.200 | 13.100 700 | 13.
700 .700 | 14.200 | 14.100 700 [ 14,
700 .700 | 15.200 | 15.100 700 | 15.
.200 .200 | 14.700 | 14.600 200 | 14,
.200 .200 | 14.700 | 14.600 200 | 14,
700 | 1 .700 | 14.200 | 14.100 700 [ 14,
700 | 1 .700 | 14.200 | 14.100 700 [ 14,
.200 .200 | 14.700 | 14.600 700 [ 14,
.200 .200 | 14.700 | 14.600 700 [ 14,
.200 .200 | 14.700 | 14.600 700 [ 14,
700 700 | 15.200 | 15.100 700 [ 14,
700 .700 | 15.200 | 15.100 700 [ 14,
700 .700 | 15.200 | 15.100 700 [ 14,
.700 .700 | 15.200 | 15.100 700 [ 14,
RE(PE)=AMR(B#E) | RRCHE) % 800 .900 | 13.400 | 12.400 800 [ 15.
800 .300 | 13.800 | 12.800 800 | 15.
800 .200 | 16.000 | 15.700 | —— 800 | 14,
KR (@) 5 .800 ,800 | 12.300 | 11.300 200 14,
.800 .800 | 14.300 | 13.700 300
.800 .800 | 14.300 | 13.300
FRCABR)=4#E(HH) | AR(PR) R .900 .900 | 38,600 | 35.600
000 ,000 | 39.100 | 37.000
000 ,000 | 39.100 | 37.000
.000 ,000 | 39.100 | 37.000
000 ,000 | 39.100 | 37.000
.000 ,000 | 39.100 | 37.000
38.900 38.900 | 30.900 | 27.900
8.900 8.900 | 30.900 | 27.900
.900 .900 | 28.900 | 24.900
— .900 .900 | 29.000 | 24.900
.900 .800 | 39.100 | 32.800
.900 .800 | 39.100 | 35.800
i IR ER) ¢ .900 .900 | 30.900 | 21.700
.900 .900 | 28.900 | 23.700
0.400 .900 | 28.900 | 24.900
.900 .900 | 30.400 | 25.700
.900 .900 | 30.400 | 25.700
— .000 .000 | 38.900 | 37.000
.000 .000 | 38.900 | 37.000
.000 .000 | 38.900 | 37.000
.000 .000 | 38.900 | 37.000
.000 .000 | 38.900 | 37.000
.000 .000 | 38.900 | 27.900
.400 .900 | 28.900 | 25.100
KR (BFH=4LIR G FiR)| KB (5 .400 | 3 :400 | 37.000 .700
.400 .400 | 37.000 | 36.700
.400 .400 | 37.000 | 36.700
.400 .400 | 37.000 | 36.700
HLIE (F TR 5 | 400 400 | 37.000 |_36.700
.400 .400 | 37.000 | 36.700
— 400 .400 | 37.000 |_36.700
.400 .400 | 37.000 | 36.700
KB (BAEE) =4LIR (i Fik)| KB (BFE) % 33.500 .400 | 37.000 .700
2.600 .400 | 37.000 |_36.700
— .400 .400 | 37.000 | 36.700 | —— —
FLIE (F TR 5 | .400 | 37.000 | 17.600 37.000 | 36.700
.400 | 37.000 | 36.700 37.000 | 36.700
,400 | 37,000 | 18,000 37,000 | 36.700
KR (FFH) = (BH) | KR(FH R ,800 | 27,700 | 26,700
,900 ,800 | 28,700 | 27,700 —
i IR ER) ¢ 800 | 33,700 ,800 | 33,700 | 19,500 33,700 | 31,100 400
,800 | 33,700 ,800 | 33,700 | 24,300 33,700 | 31,100 700
BRI (T ) FES ,800 | 25,300 700 | 43,200 | 42,700 - | — 200
,800 | 25,300 ,200 | 40,700 | 40,200 700
ALOR FF ) 5 | ,200 | 40,700 ,300 | 25,300 | 23,800 700
,700 | 43,200 ,800 | 25,300 | 23,800 [ 200
G EIE ECAC RS 100 [ 17.800 ,100 | 17,800 700 19,700 | 19,200 800
,700 | 19,100 ,700 | 19,100 | 19,000 | —- | 20,300 | 20.200 100
,200 | 18,700 ,200 | 18,700 | 18,600 19,200 | 18,700 700
,200 | 18,700 ,200 | 18,700 | 18,600 [ 18.700 700
@R ,200 | 18,900 ,200 | 18,900 | 18,800 [ 19.700 900
,200 | 18,700 ,200 | 18,700 | 18,600 [ 19.200 700
,200 | 18,700 ,200 | 18,700 | 18,600 [ 18,700 700
,200 | 17.900 ,200 | 18,900 | 18,800 [ 17.900 900
T CRE) =/ A R CHE) % ,900 | 15,800 ,900 | 15,800 | 12,400 [ 16.700 800
,900 | 15,800 ,900 | 15,800 | 12,800 [ 19.300 800
,900 | 15,800 ,900 | 15,800 | 12,900 [ 16.200 800
,900 | 15,800 ,900 | 15,800 | 12,400 [ 15,800 800
,900 | 15,800 ,900 | 15,800 | 12,400 [ 15,800 800
,900 | 15,800 ,900 | 15,800 | 14,700 [ 15,800 800
INARE ,900 | 15,800 ,900 | 15,800 | 12,400 |1 800
,900 | 15,800 ,900 | 15,800 | 12,700 T 800
,900 | 15,800 ,900 | 15,800 | 12,700 [ 14 800
,900 | 15,800 ,900 | 15,800 | 13,200 [ 14
,900 | 15,800 ,900 | 15,800 | 14,100 [ 14
,900 | 15,800 ,900 | 15,800 | 13,800 [ 14
KR (7 79) =B PTG ,400 | 25,400 | 1300 | 36,500 | 36,300
BT ,300 | 36,500 | 29,300 | 24,300 | 22,300
BETE (P ED) =HLIR (B Tk EE (hE) | J 800 .800 | 32,900 | 32,600
800 ,800 | 32,900 | 32,600
800 ,800 | 32,900 | 32,600

,800 | 32,900 | 32,600

800 ,800 | 32,900 | 32,600 —
FLOR (BT i) ,800 ,800 | 32,900 | 32,600 32,900
800 ,800 | 32,900 | 32,600 32,900

,800 | 32,900 | 32,600
,800 | 32,900 | 32,600
,800 | 32,900 | 32,600
20,900 9,400 | 17,400
20,400 8,400 | 16,400
20,400 8,400 | 16,400
20,900 9,400 | 17,400
20,900 9,400 | 17,400

32,900
32,900

BHERUMO=HE |[Z2HFBROMOR| JL

L: 20,900 | 19.400 | 17.400 .800
JL449 20,900 | 19,400 | 17.400 -
ZEEMO-REA ZHE (VK 5 |_JL: 24,800 | 22,900 | 21,500 26,800 25,800
JL f— f— f— 26,800 25,800
L: .800 | 22,900 | 21,500 26,800 25,800
L: 800 21,500 ,800 | 21,500
R L. X K 800 21,500 ,900
L: ,800 .500 800 21,500 ,800
L: ,800 | 21,500 ,800 21,500 ,800
IR TR =LES LE% JL34 500 39,100 500 39,100
#LOF (3 F#8) % | JL3406 — 500 39,100 500 39,100 | — — | — ,500 | 39,700 | 39,100 [ —
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- g [T ARG E Fea (R A TR RET R
5%7\ B | EAA | EEE | RS | BN | 5N | 0 | EAE
RRCAB)=XR(FM | RRPR) R .700 .700 | 13.200 100
700 700 | 15.200 | 15.100
700 700 | 15.200 | 15.100 | ——
700 700 | 15.200 | 15.100
700 700 | 15.200 | 15.100
700 700 | 14.200 | 14.100
.200 200 | 14.700 | 14.600
200 200 | 14.700 | 14.600
200 200 | 14.700 | 14.600
200 .200 | 14.700 | 14.600
200 200 | 14.700 | 14.600
— 700 700 | 15.200 | 15.100
700 700 | 15.200 | 15.100
700 700 | 15.200 | 15.100
700 700 | 15.200 | 15.100
RIR (FF1) 5¢ 700 700 | 13.200 | 12.400
700 700 | 13.200 | 12.400
700 700 | 14.200 | 12.400
700 700 | 14.200 | 13.600
700 200 | 14.700 | 14.200
700 .200 | 14.700 | 14.200
700 200 | 14.700 | 14.200
700 200 | 14.700 | 14.200
200 200 | 15.700 | 15.200
200 200 | 15.700 | 15.200
200 200 | 15.700 | 15.200
700 700 | 16.200 | 15.700
700 700 | 16.200 | 15.700
.700 200 | 16.700 | 16.200
.200 700 | 16.200 | 15.700
FR(CAE)=XMR (FEHE) | RR(PB) R .800 .800 | 13.300 | 12.300
800 20,600 | 14.300 | 13.300
500 15800 | 15.500 | 15.200
KR (B 5¢ 800 14,800 | 14.300 | 13.300
.200 16.800 | 16.300 | 15.300
800 16.800 | 16.300 | 15.300
FRCABR)=4#E(HH) | AR(PR) R 38 .900 38.900 | 38,600 .600
38 .000 40,000 | 39.100 |_37.000
38 .000 40,000 | 39.100 |_37.000
38 .000 40,000 | 39.100 |_37.000
38 .000 40,000 | 39.100 |_37.000
38 .000 40,000 | 39.100 |_37.000
38 38,900 38.900 | 37.900 | 27.900
38 38.900 38.900 | 37.900 | 27.900
38 38.900 38.900 | 37.900 | 25.900
38 —— 38900 38.900 | 37.900 | 24.900
38 38.900 38.900 | 37.900 | 27.900
38 38.900 8.900 | 37.900 | 27.900
48 ) % 38 — 000 | 39.900 | 39.700
KB (BFH=4LIR G FiR)| KB (5 38 38 .400 .400 | 37.000 .700
38 38 400 | 37.000 | 36.700
38 38 400 | 37.000 | 36.700
38 38 400 | 37.000 | 36.700
AR FHTFR R [ 38 38 35.400 | 21,500 | 18.000
38 38 5.400 | 33.600 | 32.800
38 38 400 | 37.000 | 36.700
38 38 400 | 37.000 | 36.700
KB (BAEE) =4LIR (i FiR)| KB (@)% | J 38 EI=] .400 | 37.000 .700
[JL2503 | 38 38 400 | 37.000 | 36.700
L2505 | 3H 38 400 | 37.000 | 36.700
ALUE (FrFa%) 5 [ JL2502 | 381 38 35.400 | 31.900 | 28.900
38 35.400 | 32.900 | 30.900
38 35.400 | 34.900 | 32.900
KR (FF) = (BH) | KR(FHHR EI=] 33.800 | 33.700 | 31.100
38 33.800 | 33.700 | 24.200
e ) % 38 — | — [ —
TRE=ALIR (BT F#%) H 38 700 | 43.200 | 42.700 | ——
38 700 | 43.200 | 42.700
07 (B T %) % 3H 700 | 43.200 | 42.700
R CRE)=#E RECRE) & Bl .100 | 17.800 700
AL 20.300 | 19.100 | 19.000
AL 19.200 | 18.700 | 18.600
AL 19.200 | 18.700 | 18.600
HER Al 19,200 | 18,900 | 18,700
il 20,200 | 19,700 | 19,200
Al 20,700 [ 20,200 | 19,700
Bl 20,200 [ 19,700 | 19,200
RERCRE) =/ M2 RERCPE) % 3H ,900 | 15,800 ,900
38 400 | 15,800 | 13,300
38 ,900 | 15,800 | 13,900
38 ,900 | 15,800 | 14,500
38 ,900 | 15,800 | 14,400
38 ,900 | 15,800 | 14,400
IVEAFE 38 ,900 | 15,800 | 12,900
38 ,900 | 15,800 | 13,400
38 ,900 | 15,800 | 14,200
38 ,900 | 15,800 | 15,700
38 700 | 17,200 | 16,700
38 ,900 | 15,800 | 14,300
KB (1) =ERfE PNTAGIEES 3H ,300 | 36,500 ,300
BEE (P =ALIR T B E (hED) 5 | 38 ,800 | 32,900 | 32,600
38 ,800 | 32,000 | 32,600
38 ,800 | 32,000 | 32,600
38 ,800 | 32,000 | 32,600
38 ,800 | 32,000 | 32,600
AR (BT FiR) % 3H ,800 | 33,600 | 32,600
38 700 | 37,600 | 36,600
38 — | — [ — 7,700 | 36,600 | 34,600
Z2HE (MO =EEXR Z2HEB MO R L: ,800 | 22,900 | 21,500 ,800 | 22,900 | 21,500
L 800 | 22,900 | 21,500 800 | 22,900 | 21,500
L 800 | 22,900 | 21,500 800 | 22,000 | 21,500
AR L4342 ,900 | 24,400 | 23,900 ,900 | 24,400 | 23,900
L4346 26,800 | 26,300 | 25,800 26,800 | 26,300 | 25,800
1492 | 38 =] 26,800 | 26,300 | 25.800 — | — [ —
48 | 380 38 f— 26,800 | 26,300 | 25800 26,800 | 26,300 | 25800 f——
GG T8 -8 LEB% JL3403 | 38 38 —— [ 42500 39.700 | 39.100 | —— | 42,500 39,700 | 39,100 | ——
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X - BEIMIE
4= .
B | gz
R (PE)=X%H HRCHE) % |_JL661 22700 | 43% |4:23.200. £:23.400,
JL663 22700 | 43% |4:23.200. £:23.400,
JL665 22700 | 43% |&:
JL667 22000 | 45%
JL669 22100 | 45%
JL671 22100 | 45%
EY JL662 19.900 50%
JL664 21.800 | 45%
JL668 22100 | 45%
JL670 600 | 46%
JL672 400 | 41%
JL674 800 | 53%
FRCRE) =R BUR CPIE) % |_JL605 400 60%
JL607 22500 | 48%
JL609 20400 | 53%
JL611 20400 | 53% 20,600, %:20.700,
JL613 20600 | 53% 20,700, £:22.200. N
JL615 20600 | 53% |A:20.700. £:22.200, £:19.700. H:21.200
RIESR JL606 20200 | 54% K:20,500. #:21,000, £:21.800. H:20.300
JL608 400 | 51% 900 £:21¢ 20.3
JL610 800 | 55%
JL612 100 | 47%
JL614 100 | 47%
JL616 500 | 51%
R CRIE)=#EX RERCHE) S [ JL623 22.200 46%
JL625 22600 | 45% 22,900, 00
JL627 22600 | 45% 22,900, H:20.500
JL629 900 | 47%
JL631 900 | 47%
JL633 600 | 47%
JL637 400 | 48%
JL639 700 | 47%
AR JL622 22.600 45%
JL624 23400 | 43%
JL626 20400 | 50%
JL628 900 | 52%
JL630 1200 | 44%
JL632 200 | 44% 700, £:21.400,
JL634 200 | 44% 700 £:21.400,
JL638 400 | 60% [£:19.700, H:18.500
R CRIE) =58 FRCPE)$ |_JLe8] 20.900 49% 22.300, £:21.700,
JL689 1.300 | 48%
JL691 1.300 | 48% 22,700, £:21.700,
JL693 1.000 | 49% |£:22.900. H:20.700
JL695 20600 | 50%
JL697 20600 | 50%
EE JL68S 20.800 49%
JL690 20900 | 49%
JL692 20300 | 51%
JL694 20800 | 49%
JL696 22.300 | 46%
JL698 17.300 | 58%
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X - BEIMIE
4= .
B | gz
R (PE)=X%H HRCHE) % |_JL661 22700 | 43% |4:23.200. £:23.400,
JL663 22700 | 43% |4:23.200. £:23.400,
JL665 22700 | 43% |&:
JL667 22000 | 45%
JL669 22100 | 45%
JL671 22100 | 45%
EY JL662 19.900 50%
JL664 21.800 | 45%
JL668 22100 | 45%
JL670 600 | 46%
JL672 400 | 41%
JL674 800 | 53%
FRCRE) =R BUR CPIE) % |_JL605 400 60%
JL607 22500 | 48%
JL609 20400 | 53%
JL611 20400 | 53% 20,600, %:20.700,
JL613 20600 | 53% 20,700, £:22.200. N
JL615 20600 | 53% |A:20.700. £:22.200, £:19.700. H:21.200
RIESR JL606 20200 | 54% K:20,500. #:21,000, £:21.800. H:20.300
JL608 400 | 51% 900 £:21¢ 20.3
JL610 800 | 55%
JL612 100 | 47%
JL614 100 | 47%
JL616 500 | 51%
R CRIE)=#EX RERCHE) S [ JL623 22.200 46%
JL625 22600 | 45% 22,900, 00
JL627 22600 | 45% 22,900, H:20.500
JL629 900 | 47%
JL631 900 | 47%
JL633 600 | 47%
JL637 400 | 48%
JL639 700 | 47%
AR JL622 22.600 45%
JL624 23400 | 43%
JL626 20400 | 50%
JL628 900 | 52%
JL630 1200 | 44%
JL632 200 | 44% 700, £:21.400,
JL634 200 | 44% 700 £:21.400,
JL638 400 | 60% [£:19.700, H:18.500
R CRIE) =58 FRCPE)$ |_JLe8] 20.900 49% 22.300, £:21.700,
JL689 1.300 | 48%
JL691 1.300 | 48% 22,700, £:21.700,
JL693 1.000 | 49% |£:22.900. H:20.700
JL695 20600 | 50%
JL697 20600 | 50%
EE JL68S 20.800 49%
JL690 20900 | 49%
JL692 20300 | 51%
JL694 20800 | 49%
JL696 22.300 | 46%
JL698 17.300 | 58%
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X % - BEIMIE
4= .
B | gz
R (PE)=X%H R (PE) % [_JLe6t 22700 | 43% |4:23.200. £:23.400,
JL663 22700 | 43% |4:23.200. £:23.400,
JL665 22700 | 43% |&:
JL667 22000 | 45%
JL669 22100 | 45%
JL671 22100 | 45%
EY JL662 19.900 50%
JL664 21.800 | 45%
JL668 22100 | 45%
JL670 600 | 46%
JL672 400 | 41%
JL674 800 | 53%
FRCRE) =R HR(FHE)F |_JL605 400 60%
JL607 22500 | 48%
JL609 20400 | 53%
JL611 20400 | 53% 20,600, %:20.700.
JL613 20600 | 53% 20,700, £:22.200. N
JL615 20600 | 53% |A:20.700. £:22.200, £:19.700. H:21.200
RIESR JL606 20200 | 54% K:20,500. #:21,000, £:21.800. H:20.300
JL608 400 | 51% 900 £:21¢ 20.3
JL610 800 | 55%
JL612 100 | 47%
JL614 100 | 47%
JL616 500 | 51%
R CRIE)=#EX HR(CRE) % |_JL623 22.200 46%
JL625 22600 | 45% 22,900, 00
JL627 22600 | 45% 22,900, H:20.500
JL629 900 | 47%
JL631 900 | 47%
JL633 600 | 47%
JL637 400 | 48%
JL639 700 | 47%
AR JL622 22.600 45%
JL624 23400 | 43%
JL626 20400 | 50%
JL628 900 | 52%
JL630 1200 | 44%
JL632 200 | 44% 700, £:21.400,
JL634 200 | 44% 700 £:21.400,
JL638 400 | 60% [£:19.700, H:18.500
R CRIE) =58 HR(PE)H |_JLes7 20.900 49% 22.300, £:21.700,
JL689 1.300 | 48%
JL691 1.300 | 48% 22,700, £:21.700,
JL693 1.000 | 49% |£:22.900. H:20.700
JL695 20600 | 50%
JL697 20600 | 50%
EE JL68S 20.800 49%
JL690 20900 | 49%
JL692 20300 | 51%
JL694 20800 | 49%
JL696 22.300 | 46%
JL698 7.300 | 58% |H:17.700. £:18.700.
KB (751 5 | _JL2383 .800
JL2385 800 £ £:15.200
JL2389 800 £ H:15.200
AR JL2382 .800
JL2386 800 £ H:15.200
JL2392 800 £H:15.200
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X - BEIMIE
4= .
B | gz
R (PE)=X%H HRCHE) % |_JL661 22700 | 43% |4:23.200. £:23.400,
JL663 22700 | 43% |4:23.200. £:23.400,
JL665 22700 | 43% |&:
JL667 22000 | 45%
JL669 22100 | 45%
JL671 22100 | 45%
EY JL662 19.900 50%
JL664 21.800 | 45%
JL668 22100 | 45%
JL670 600 | 46%
JL672 400 | 41%
JL674 800 | 53%
FRCRE) =R BUR CPIE) % |_JL605 400 60%
JL607 22500 | 48%
JL609 20400 | 53%
JL611 20400 | 53% 20,600, %:20.700,
JL613 20600 | 53% 20,700, £:22.200. N
JL615 20600 | 53% |A:20.700. £:22.200, £:19.700. H:21.200
RIESR JL606 20200 | 54% K:20,500. #:21,000, £:21.800. H:20.300
JL608 400 | 51% 900 £:21¢ 20.3
JL610 800 | 55%
JL612 100 | 47%
JL614 100 | 47%
JL616 500 | 51%
R CRIE)=#EX RERCHE) S [ JL623 22.200 46%
JL625 22600 | 45% 22,900, 00
JL627 22600 | 45% 22,900, H:20.500
JL629 900 | 47%
JL631 900 | 47%
JL633 600 | 47%
JL637 400 | 48%
JL639 700 | 47%
AR JL622 22.600 45%
JL624 23400 | 43%
JL626 20400 | 50%
JL628 900 | 52%
JL630 1200 | 44%
JL632 200 | 44% 700, £:21.400,
JL634 200 | 44% 700 £:21.400,
JL638 400 | 60% [£:19.700, H:18.500
R CRIE) =58 FRCPE)$ |_JLe8] 20.900 49% 22.300, £:21.700,
JL689 1.300 | 48%
JL691 1.300 | 48% 22,700, £:21.700,
JL693 1.000 | 49% |£:22.900. H:20.700
JL695 20600 | 50%
JL697 20600 | 50%
EE JL68S 20.800 49%
JL690 20900 | 49%
JL692 20300 | 51%
JL694 20800 | 49%
JL696 22.300 | 46%
JL698 17.300 | 58%
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F% | an
AR~ |
RROAE)=AS | RRCAE)%E | JL66l S8 | 21,000
[ JL663 23.100
[ JL665 22.800
[ JL667 26.900
[ JL669 27.500
L671 25.300
K% [ JL662 1.900
[ JL664 600
[ JL668 200
L670 .200
L672 100
L674 .100
RRCAE) =K@ | RRCAE)%E | JL605 500
[ JLe07 300
[ JL609 26.600
L611 26.600
L613 26.000
L615 26.000
R [ JL606 22.900
[ JL608 24.100
Lf 26.100
Lf 7.600
Lf 7.600
Lf 7.600
RROAE)-MEA | RRCHE)R | JL62 1,700
[ JL625 1.700
[ JL627 22.500
[ JL629 200
L631 .200
[ JLe33 000
L637 .600
L639 .600
RERHR [ JL622 1.100
[ JL624 22.600
[ JL626 22.600
[ JL628 22.600
[ JL630 24.600
L632 26.100
L634 26.100
L638 20.600
RRAE)-E@ | RRCAE)%E | JL687 22.700
[ JL689 100
[ JL69t 100
[ JL693 500
[ JL695 500
JL697 .900
= I [ JL688 22.500
[ JL690 22.500
[ JL692 23.900
[ JL694 24.900
[ JL696 26.100
JL698 22.100
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8800 | 57% [k
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100 | 50% |7K:16.400. :17.400
100 | 50% | X:23.500. 7K:16.400
300 | 49% |7K:16.400. :17.400
500 | 49% |7K:16.600. :17.600, £:21.800. +:22.300. H:22.000
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300 | 78%
800 | 77%
800 | 77%
800 | 77%
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300 | 65% 9,300, + H:26.500
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400 | 66%
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400 | 67% |A:
100 | 66% |%:14.400
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